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logarithmic Va, Vo-data
log Va = ( logDo+ logPo)/2
log Vo = logVa + 0,31
log [ Vo, Va, Do, Po ]

uλ = (λ − 550) / 50
logDo = −0,35[uλ−u540]
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logPo = −0,35[uλ−u570]
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Adaptation: λUT=555
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logarithmic Da, Do-data
log Da = ( logGo+ logPo)/2
log Do = logDa + 0,126
log [ Do, Da, Go, Po ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u510]

2

logPo = −0,35[uλ−u570]
2

Adaptation: λUT=540
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λ /nm
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logarithmic Pa, Po-data
log Pa = ( logDo+ logOo)/2
log Po = logPa + 0,12
log [ Po, Pa, Do, Oo ]

uλ = (λ − 550) / 50
logDo = −0,35[uλ−u540]

2

logOo = −0,35[uλ−u600]
2

Adaptation: λVT=570
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logarithmic Pa, Po-data
log Pa = ( logDo+ logOo)/2
log Po = logPa + 0,12
log [ Po, Pa, Do, Oo ]

uλ = (λ − 550) / 50
logDo = −0,35[uλ−u540]

2

logOo = −0,35[uλ−u600]
2

Adaptation: λVT=570
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λ /nm
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logarithmic Ga, Go-data
log Ga = ( logBo+ logPo)/2
log Go = logGa + 0,35
log [ Go, Ga, Bo, Po ]

uλ = (λ − 550) / 50
logBo = −0,35[uλ−u470]

2

logPo = −0,35[uλ−u570]
2

Adaptation: λUT=520
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ZE800−6NToGo−>BaBo
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λ /nm

uλ

logarithmic Ba, Bo-data
log Ba = ( logTo+ logGo)/2
log Bo = logBa + 0,12
log [ Bo, Ba, To, Go ]

uλ = (λ − 550) / 50
logTo = −0,35[uλ−u440]

2

logGo = −0,35[uλ−u570]
2

Adaptation: λGT=470
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ZE800−7NToGo−>BaBo

440470500

λ /nm

uλ

logarithmic Ba, Bo-data
log Ba = ( logTo+ logGo)/2
log Bo = logBa + 0,12
log [ Bo, Ba, To, Go ]

uλ = (λ − 550) / 50
logTo = −0,35[uλ−u440]

2

logGo = −0,35[uλ−u570]
2

Adaptation: λGT=470
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logarithmic Ga, Go-data
log Ga = ( logBo+ logPo)/2
log Go = logGa + 0,35
log [ Go, Ga, Bo, Po ]

uλ = (λ − 550) / 50
logBo = −0,35[uλ−u470]

2

logPo = −0,35[uλ−u570]
2

Adaptation: λUT=520

    −3,0 −1,0   1,0   3,0   0.0

550400 500 600 700
−2

−1

  0

Threshold
Sa=0.0


